l "TAKARA
Bl BELMONT

RS Adria Il Installation Instructions

B RS Adriall
(AY-P069X / SU-191BW)

Contents
Before installation
Usage conditions
Content of packaging
Carrying the main body

1.Installation of Shampoo Unit
2.Piping

3.Attach the seat

4. Attach cover

- OO o b W N

_ =

Dimensions

RGN
w N

After installation
Unit fixing position and Plumbing Layout 14

To the installer
* The instructions should be thoroughly read
and understood before installation to ensure
that RSII is installed correctly.
« After installation, give these instructions to the customer.

To the customers
« Customers must ask proffessional to install RS Adria |l .
» Customers must not install RS Adria |l by themselves.
» Customers must store these instructions in
a safe place so as not to lose them.

* The actual shape of RS Adria Il and the images and
dimensions listed in these instructions may be modified
and are subject to change without notice.

® The precautions listed here are to ensure that RS Adria |l
can be installed safely, and to prevent any
danger or risk to the person installing RS Adria Il
or those around them. All of these precautions are
important for safety. Takara Belmont is not responsible
for any damage or risk to the person installing RS Adria Il
or those around them due to accidents if
RS Adria ll is installed without adhering to the
precautions.

Caution

If RS Adria Il is installed after ignoring this symbol,
"there is the risk of light or moderate injury or physical
damage".

Note : Plumbing should be performed by a qualified
technician and should meet all national and local
plumbing codes and ordinances. It is the responsibility
of purchaser and/or plumber to conform to national
and local codes and ordinances. Takara Belmont does
not take any responsibility or liability for plumbing and
installation.

Version 1|  April 2016




Before installation

Hinstallation of pipes

The following are important points to adhere during the installation of pipes.

Read through the details carefully and ensure that the pipes are installed correctly.

OWhen installing this product, ensure that installation of pipes adheres to the instructions outlined in "Precautions during
installation of pipes". Installing pipes without reading through the precautions will mean water may not mix properly, and a set

temperature will not be achieved.
OThis product is designed for indoor installation. Always install this product indoors.

HPrecautions during installation of pipes

ODo not use pipes made of materials that may introduce rust for the water supply pipe.
In general, VP pipes or other materials specified by regulations in that particular region, are recommended for installation.

Oln general, Type L deoxidized copper pipes are recommended for hot water pipes.

Oln general, the same diameter and same pressure is recommended for hot water pipes and water supply pipes.

OAlways use a reamer to deburr the ends of cut pipes.

OAvoid using inverted U-shaped pipes (siphon) as these can cause air to become trapped.

OAlways connect hot water pipes and water supply pipes after removing all contaminants such as dirt, sand and oil as these can
cause problems.

OAfter connecting the pipes and testing water flow, clean the filter and shower head.

OEnsure that the drain pipe is installed at a gradient of 1/50 for a diameter of ¢ 75 or less, or 1/100 for a diameter of ¢ 75 or more.

ODo not connect the hot water pipes and water supply pipes in reverse.
Connecting pipes in reverse will mean the temperature of water cannot be controlled properly by the water taps, which can
cause problems including burns.

OEnsure that the hot water pipes from water boilers are only run over a short distance so as to minimize resistance.
Longer pipes can cause fluctuations in temperature and poor hot water delivery.

OAlways wrap pipes with lagging material after installation is complete.

OWater boiler pipes
¢ In general, the same diameter and same pressure is recommended for main hot water pipes and main water supply pipes.
o Ask professional to install water boiler.

OEquipment comes with hair catchers installed.

OAuvoid the anchor positions when installing the pipe risers.

HERequest measures to prevent water leakage under the floor and downstairs

Be sure to take the necessary precautions to prepare for and prevent possible water leaks.
OUse waterproof flooring materials.

Olf the floor has an opening, cover the opening when completing the interior finishing (waterproofing).

Olnstall all pipe gaskets.

BmFloor surface

OEnsure that the material or finishing of the floor surface is waterproof or has a waterproof coating applied.
OAlways ensure that the floor surface is horizontally level.
OEnsure that the floor surface is smooth and free from bumps around the attachment areas.



OPipe risers

Hot water / water supply Rc 1/2"; pipe risers from floor; rise dimensions: hot water 60 mm; water 60 mm

Drainage VU40/VP40; pipe risers from floor; rise dimensions: 100 mm

OChanging the pipe form RS1
The pipe risers for hot water and the water supply and drainage for RS1 can be used without changing the pipe.

Hot water / water supply Rc 1/2"; pipe risers from floor; rise dimensions: hot water 90 mm; water 90 mm

Drainage VU40/VP40; pipe risers from floor; rise dimensions: 90 mm

OChanging the pipe form NRS

Adjust the rise so that the height of the NRS drainage will be 110 mm. The pipe risers for the hot water and the water supply can
be used without changing the pipe.

Hot water / water supply Rc 1/2"; pipe risers from floor; rise dimensions: hot water 80 mm; water 110 mm

Drainage VU40/VP40; pipe risers from floor; rise dimensions: 110 mm

Olf the floor surface is tiled, cracks may occur when fastening the bolts during installation of the RSII main body.
If this looks likely to happen, use the main body attachment diagram and template as a reference and change the material of the
attachment area that is in contact with the floor to another such as plywood or mortar.

OThe following levels of strength are required for the floor surface.

Wooden floor Plywood thickness of 30 mm or more (two 15 mm sheets joined together)

Mortar floor Mortar thickness of 50 mm or more

Special floor (stone finish) | A foundation with levels of strength listed above around the installation areas is required.

Usage conditions

B Hot water supply and water supply conditions

* Public water supply (do not use non-drinkable well water or water that contains rust or sand.)

* If the water hardness is 80 ppm or higher, install a water softener to prevent the buildup of scale
within the basin body. Aeration may be minimal when using shampoo even if drinkable well
water is used, so a water softener should be installed.

Water used

* Use a pressure between 0.1 and 0.4 MPa (1 to 4 kgf/cm?). If multiple RSII are used,

Hot water supply, ensure that the pressure does not drop below 0.1 MPa (1 kgf/cm?).

water supply pressure » Set the water supply pressure = hot water supply pressure.

* Set the difference between the hot water supply pressure and water supply pressure to within
0.2 MPa (2 kgfilcm?).

Hot water temperature | « Set the hot water temperature to 80°C or less.
into the product * Set the temperature 10°C or higher than the shower temperature used.

Water boiler * Do not use steam with the hot water supply.




Content of packaging

® Shampoo Unit Side (AY-PO69X)
oShampoo Unit

oLower-front Chair Cover

oNeck cushion

>

oFlexible pipe (2)
(%)
S
oDrain cap oHair catcher oWater stop valve(2) oDrain hose packing %
%) o o ) ;
5 3 S S &
) ) —] R—]
. CBEY )
- SeIiSeT
(L=200mm)
oPipe packing oDrain hose clamp oWrench oHexagonal Wrench oTrickle stopper rubbes
(%) (%)

\.

oCheck valve(2)(For North America only) oFlow Regulator(2)(For North America only)
oBraid hose L=600mm(2)(For North America only)

==

<&@

oScrew Set for Cover

oShampoo Unit Floor Screw Set oOperation Instruction Manual
M8 x 70 anchor bolt 6 pos. olnstallation Instruction Manual
M8 x 65 hexagonal tapping bolt 6 pcs.

M4 x 16 truss-head tapping screw 4 pcs.
M5 x 12 truss-head tapping screw
(with PE packing) 2 pcs.

Plain washer

&%

o7

6 pcs.
%)/

o7

oOperation Instruction Manual
for Trickle stopper rubber

oShower Head Cleaning Manual(>)
oSetting Sheet()

Note. For North America, the part marked ">¢" is not included.

® Chair Side (SU-191BW)
e Chair Main Unit

e U-shaped Step e Backrest cover

® Chair Fixing Screws
M8 x 20 Hexagonal head bolt
(with plain washer/spring washer) 4 pcs.

e Step Fixing Screws
M8 x 30 Hexagonal head bolt
(with spring washer) 4 pcs.




Carrying the main body

mCarrying in the Shampoo Unit

1 Detach the lower chair cover and the maintenance cover
from the shampoo unit.

& Caution

Place the detached covers in a safe area.

2 Detach the shampoo unit from the skid.

While supporting the shampoo basin with the hands, remove
the hexagonal head bolts (phillips head)(M8 x 50) from the
shampoo unit base (four locations).

*Return the skid to the company after installing the shampoo unit.
Do not remove the iron plate mounted on the skid.

& Caution

Always have at least two people to carry the main body and hold
the basin when remove the bolt.Otherwise the basin is likely to fall.

3 Precaution for carrying the shampoo unit

When carrying the shampoo unit, be sure to hold it by the frame.
Do not hold it by the mixer tube located on the side of the basin.

A Caution

» When carrying the basin unit, be careful not to hold it at the basin
part. The basin may move depending on the product
specifications. Be sure to carry it by holding it at the frame.

+ Since the basin unit tends to tumble, be sure to carry the basin
while maintaining balance.

* Do not carry the basin with the parts on it.

* Never hold the basin unit (ceramic work) at the band end.
Failure to follow this instructions may result in breakage of
the basin.

* Do not hold the main body cover.

Doing so may cause damage to the main body cover.

* Take care when handling the basin as it is heavy and fragile.

* Do not drag the unit.

The foot part of the basin is made of steel, so dragging it may
damage the floor surface or crack the basin itself.

* The basin may become damaged if scratched by metallic objects
such as watches or belts.

Remove all metallic objects such as watches when carrying the
basin.

* Take extra care to ensure not to damage the covers.

* Do not touch the basin body pipes.

Doing so may cause water leaks.
* The basin is unstable when it is not fixed to the floor.

Lower Chair Cover
(secure with tape)

Shampoo Unit

\ Maintenance Cover
(secure with tape)

Main Frame




Installation of Shampoo Unit

1 Marking the bolt anchor points

(1) Set the dedicated paper template on the floor, and align it with the

water, hot water, and drainage pipe risers.
(2) Mark the bolt anchor position of the basin main unit.
(3) Drill holes at the bolt anchor position of the basin main unit.
(4) Remove the paper template.

mRequest measures to prevent water leakage under the floor and downstairs

Be sure to take the necessary precautions to prepare for and prevent
possible water leaks.

» Use waterproof flooring materials.

« If the floor has an opening, cover the opening when completing
the interior finishing (waterproofing).

* Install all pipe gaskets.

2 Attach pipe packing

(1) Cut a slit in the pipe packing to suit the position of the pipes to be installed.

(2) Peel away the sheet from the adhesive surface of the pipe
packing and stick to the floor surface.

(3) Cut out a circle around the slit cut in the pipe packing to suit the
pipe surface, and fill in any gaps with caulking materials.

Paper Template

Cut a slit

Pipe packing
(sponge)

A Caution

* Always attach pipe packing and apply caulking materials to the areas around
the pipes so that there are no gaps, in order to prevent condensation within
RSII or water seeping on the floor in the event of water leaks.

« If pipe packing is not used, condensation may cause water to pool on the
floor, structural parts may start degrading and malfunctions may occur.

3 Fixing the Shampoo Unit on the Floor

* Apply caulking materials
to any gaps

Align the shampoo unit with the marked positions on the floor and anchor the unit with the bolts (six locations).

(8

An
M

& Caution

Be sure to use a plain washer when securing the bolt.

®Installation process for anchor bolts

Bolts to be used (supplied with the shampoo unit):
® Plywood Floor
Hexagonal head tapping bolt + plain washer

mm x 65)

® Concrete Floor

chor bolt + plain washer
8 x 70, Pilot drill hole 8.5 mm)

(Use the wrench with the opposite side distance of 12 mm.)

A Caution

The strength of the anchor bolts will be reduced
if they are hammered into the hole while touching
the bottom. Open up a gap.

8.5 mm_

Hole depth
50 mm or

1
Center pinh ﬂ

20T S

{7 Flat washer

(1) Drill open a (2) Remove the dust from each (3) Insert the anchor bolt and (4) Adjust the fastening
specified diameter and anchor hole by cleaning tap it with a hammer until strength of the nut
depth. with a vacuum cleaner. the center pin makes using a wrench.

contact with the base plate.



4 Installing the Lower Chair Cover

(1) Set the lower chair cover so that the claw of the cover will hang on the tentatively fixed truss-head screw (M5 x 12).

(2) Secure the cover with the truss-head tapping screws (3) Fully tighten the truss-head screws (two locations).
(two locations).

Screws to be used (supplied with the shampoo unit): Truss-head screws
Truss-head tapping screw (M4 x 16)



<excluding AY-P073X,AY-074X>
1 Installing the Flexible Pipe

Before connecting the pipes, remove any waste from the pipes, such
as dust, dirt, sand, or oil. Connect the water shutoff valve to the hot
water/water supply pipes. Then, apply the furnished packing to the
flexible pipe and connect the pipe to the water shutoff valve.

*Be sure to use the furnished packing. Failure to use the packing
may result in water leaks.

*Be careful to avoid connecting the pipes for hot water and water
adversely.

& Caution < Changing the pipe form RS1/NRS>

A flexible pipe of L = 200 mm is supplied with the product.

When changing the pipe, the length of the flexible pipe may not be
correct. Prepare flexible pipe in the appropriate length for the work
before implementing the replacement or change.

& Caution

When changing the pipe from NRS, the height (rise) of the drainage
pipe must be adjusted. Detach the joint connected to the drainage ) )
pipe and make the adjustment so that the height (rise) of the drainage Drainage hose paCkmg\‘
pipe is 110 mm. When changing the pipe from RS1, the pipe can be
used as is. (Height of drainage riser = 90 mm)

Water supply pipe j

Hot water supply pipe Drainage

S-trap

Drainage
hose

Drainage hose fixture

2 Attach drain hose to installed drain pipe

A Caution

» Check that the drain hose is not bent or damaged.
This may affect water flow or damage the drain hose.
» Check that the drain hose clamp is firmly fastened. If it is
not fastened, water may leak or the drain hose may come loose.
» Check that the hose is not in the shape of an Double trap.
An Double trap can adversely affect the flow of drainage water.
If the drain pipe layout causes an Double trap to be formed,
check the installation position of the basin body and
piping dimensions, and make the necessary
adjustments.

End of drain pipe
Stepped section

Drain hose packing

* Firmly insert the drain
hose packing until it hits

of the drain hose.

the inner stepped section

(3) Fasten the drain hose clamp.

(2) Pass the drain hose through the
drain hose clamp and attach
the drain hose.

(1) Install the drain hose packing
to the installed drain pipe.

@ @7 Installed drain pipe

Match the center (width) of drain hose
clamp to the indent in the drain hose.

Drain hose

Fasten C

Drain hose clamp

Insert to this line.

Drain hose packing




3 Test water flow
(1) Is there no water leaking from the pipe joints?

The pipe joints may come loose during transportation,
A Caution so check the joints within the basin thoroughly.
(2) Are the hot water supply and water supply pressures
at the same, stable pressure?
If the pressure is not the same, see "How to adjust faulty
temperature regulation" below.
* Test the water flow and inspect the following (3) Can temperature be controlled properly?
items. The hot water may be slightly tainted (4) Check that the shower outlet flow is sufficient,

at the starf[ of the water flow test,hnowever this by the following as a guide for flow rate.
does not indicate any problem.

* For safety reasons, the product's thermostat
is designed so that the hot water does not
exceed 53°C.

Always test the water flow to prevent
accidents during use.

Shower outlet flow rate

Hot water supply pressure, water supply pressure: 0.1 MPa each

. . Shower outlet temperature :40°C
(if the supply pressure is the same,
water is 20°C and hot water is 60°C) Aeration shower head : Approximately 8 L/min
Spa shower head (Aeration) : Approximately 8 L/min
(shower) : Approximately 9 L/min

e Cleaning

After the hot water becomes clear during the water flow test,always clean the filter (within the check valve)
and shower head.
Failure to do so can result in insufficient flow rate and faulty temperature regulation.

Remove and clean any dirt ’ Remove and clean any dirt trapped within the shower head ‘
trapped within the filter pipe

Detach the aerator core by
using the furnished wrench.

Filtered check valve Spa shower head

\! I Aerator core O-ring
B A \\

Fiter ,((,\

Aerator shower head

Shower head

—How to adjust faulty temperature regulation—

oContents of defect
1.Something wrong with hot water(Temperature is unstable) LL
2.Hot water(high temperature)does not come out ™ Pressure reducing
3.Water(low temperature) does not come out ,  Valve(Optional)
oPresumed cause %/
T . Check valve
1.There is difference in the water supply or hot-water supply pressure, % with filter
or the pressure of hot water supply is higher than the pressure of water supply. !
the pressure of water supply = the pressure of hot water supply é/
[ The difference should be in the range of 0.2Mpa ]
2.Pressure of water supply and hot water supply is high =

[ These two should be in the range between 0.1 and 0.4MPa ]

oHow to react

Connect a pressure reducing valve (Optional) on the upper side (mixer side)
of the filtered check valve, then adjust the pressure.

(It is recommended that water supply pressure and hot water supply
pressure become the same pressure)

Stop Valve




Attach the seat

1 Installing the Seat on the Shampoo Unit

(1) Place the chair on the shampoo unit by aligning the
center of the mounting bracket at the back of the
chair and the center of the slotted hole of the chair
mounting fixture of the shampoo unit.

(2) Check that the centers of the basin and the chair
align, and secure the chair with the bolts from the
bottom side (four locations).

Mounting bracket

Chair mounting fixture

Bolts to be used (supplied with the chair):

Hexagonal head bolt (M8 x 20)

(With spring washer and plain washer)

(Use the wrench with the opposite side distance of 12 mm.)

2 Mounting the Step (U-shaped Step)

Using the holes provided at the base of the step, fix the step with bolts from the bottom side of the seat
(4 locations).

Bolts to be used (supplied with the chair):

Hexagonal head bolt (M8 x 30)

(With a spring washer)

(Use the wrench having the opposite side distance of 12 mm.)

Step

10



Attach cover

1 Mounting the Lower-front Chair Cover

(1) Mount the truss-head tapping screws to the upper part
(speed nut portion) of the lower-front chair cover
(two locations).

(2) Mount the lower-front chair cover to the shampoo unit
with the truss-head screws (two locations).

The side with a
cutout: UP

Screws to be used (supplied with the shampoo unit):
Truss-head tapping screw (M4 x 16)
Truss-head screw (M5 x 12) (With PE gasket)

Truss-head tapping screw
Lower chair cover

Truss-head screw

2 Mounting the Maintenance Cover

The maintenance cover can be mounted simply by
hooking the three latches on the main unit.

First, hook the latch on the upper side, and then hook
the two latches on the lower side.

& Caution

Check that the maintenance cover is attached securely by
the three latches. If the cover is not attached securely,
there is a possibility that water may enter the inside,
resulting in a system failure.

11



(Unit:mm)

(¥16) 066

vy

19€

09

999

132

(668) £88
897
A e g ww Q| :ebeureiq
K [ 7 ww 09 :Alddns Lm.ﬁm>>

418

°$

ww 09 :A|ddns Jeyem JoH

\ (uoisuawiq asry)

S —

259

400

[

Center of Drainage Pipe

566

1292
1525

G6

00§

€369

12



After installation

@Inspection
Inspect the following items.

loose, check the bolts at the joints again.

A Caution Be sure to execute the inspection without fail to prevent accidents during operation.

(1) Check that there are no missing screws or other parts.
(2) Check that there are no loose parts on the shampoo unit or the chair.If any part of the shampoo unit or the chair is

(3) Check that there are no cracks or contamination on the basin.
(4) Check that there are no problems, such as flaws on the external appearance.
(5) Check that there are no water leaks on the floor.

@ Attach neck cushion on the basin

Execute the installation using the following
procedures:

(1) Set the neck cushion to the end of basin
in the direction as shown in the image.

A Caution

Be careful about the installation direction.
If the cushion is installed in the wrong
direction, it may contact the backseat.

(2) Attach the hooks of the neck cushion to the
fastening pins inside of basin.

A Caution

* Take care not to lose the fastening pins.

(3) Adjust the shape of the neck cushion and attach
the basin side hooks of the neck cushion to the
fastening pins outside of basin.

Seat side
Seat side f
Neck cushion
Basin side

Fastening pin

Hook

13



| ‘slosll adid ayy 8l o¢ 161 | % eve

Buijjeisul uaym suonisod Joyoue ay} PIoAy
uolne) Q 7

1UI0d J0GouUY 1108

9pIS 8seq Jo pux—

\\ —_—

y

"eale uolje|ejsul

| H
( (e0epns lem oy respuey wou)
julod Joyouy iiog I ww QG Jo a|sie ue Buipnjoul
| JOAO IO WWQ0.L
| [ oniyd
9"'\""'-“ J3A0 1O WW(O99
1 [3LI/SIXV/LH404NOD.
whd J9A0 JO WwWE88 (wwog -asty) :8IN}|uIny 10 2BHNS [[BM 8U} 0} (8pIS sIe) Bv) N
| [eunysod Bunys ur aonoeld] w/wel .2/l 9pIs 9SEq 8} JO PUS AU} O BOUEISIQ IS 8
u | JEREE WINEER Aiddng se1epn [ T ] =
gz Q
o [e1njsog Buipue)s ui sonoeld] ] H o
aunyuIny 1 e Hi G
y 10 90BNS |[BM 3Uj} 0} 8SE] . g 3
| U} JO pus Uy} Woly douL)SIq (w00} 2st) mw | © mm
© , (0rdAJOPNA L1
— abeurelq ) %
g ! g | N
N

Sy

g I uonisod pu3 eseg | U} Ul pawlo} 8q pINoYs painsus si Yyibusls pejeis-anoqe
n ! \-./ ay) yoym Joj aseq ay) :(-01e ‘euoys) Jooy) [e1oads -
fp— ] 210W JO WW (G JO SSBUNOIY} JEHO|N 00} JEHO -
(wwgg :as1y) 8I0W IO SSBUMNDIY} WU OF UIM PIBOQ JOBUSA 1J0OJ} UBPOOAN -
J9A0 JO WWQEY wwgl .z/L

:yibusys Buimoj|oy 8y} salinbal 8oeLNS J0of) 8y |

[aumysod Bunyg u sanoeld]

Aiddng ia1eA) JO0H
[}

i -
m i 1910 JO WWO09 ¢ oY g€
u [aumsod Buipueyg ur sonoeld] H - - - - - - -
seanyuing |5 - -
— 10 90BJNS |[eM 8Y) 0} ulseq ~
U} JO pud Uy} WOl oUL)SIq |
P 00 —\
d 180D J0 8ulT Jousixg / L /
S 081 X 00} INOINY J0O|4 JO EdlyY
c , Y oa s octon —_—
| o
a I - UOREIEIsul /o8 Joyouy 10} UoNED 7 6v1
n juiod Joyduy jjog julod Joyouy jjog julod Joyduy jjog JBA0D JO BUI JoUs)XT
®) | %
A : 162 95T | Loc _I e 01 v pavenipe o 1t o6id BBeUIDT Yosh oUh Jo RIB e ‘Su wion ecid ey Burbueus wounn x|
00v | pwon wwiog wwolh sun |
- — [ RGN N Tty R
s |||||||||||||||||||||| +—— J9)ua) abeulelq I w6 (o6 LLo6 sd |1
+———ulseg JO pu3 }oeg 1 oo (opis oBuods) 13500 adla ! (ovdA/OPNA) (wiwet.zit) (wwel.z/1) 1
o | 1 ; " “8deuNs uone|[ejsul J00j) 8y} Moys O_ 1 abeuleiq Alddng Je1eM) 1OH Alddng Jayepp
p " 1 1 <odid 10 suosusWIq ostg> |
\ 1 “(Ww g 40 Z ulyym) eoepns sseyd 1o oy} Bulpunouns I *sadid ay} Joy Juiod asu sy} Buibueyo Jnoyim |
ay} ueyy Jaybiy aq pinoys soepuns jaued ay | a|qissod st SYN/LSY wody adid ayy 8BuByO 0} YJoM By |
g | “adid ay) punoJe eale sy y|nea usy} pue ‘adid sy LM Buole 18YSEB Bl Uo Uonod 1D B} 1 BRI B Ui 19YSEB aU} 1D (€) ‘gale Jjo-pajead sy uj sjoued aysoduwios aeld (z) 1 “onpoud sy ym paiiddns s ww 00z = 4o adid agixeyy |
| 100} 8y} o Joxseb oy} jes pue Jexsed adid au) uo 1eays AISAUPE BU) 4o [99d (2) 'SNoIAGo aq Aew uoiod SHN/LSY wioy adid ayy Buibuey) |
n ‘uiod Jesi adid 8y} je 1exseb adid auy u1ino e ae (1) pajead ay) ‘esimiayo A|injaled suop aq jsnw 1 _— e = = Em = e Em e = = Em e = = e
u — [ 1ese9 adig ayy Buljjeysu| Joy sainpeoold | 5JI0M BU | “JOO}} BU} JO EJE UONE|[BJSUI B} JO Saul| “ajejdwa} Jaded ey} anoway
—

(1)
apisjno ay} Buoje sse|b Jo sy} Jauul 8y} Jo [9ad (1) "Jlun ulew uiseq ay} jo uonisod Joyoue }joq ay} je sajoy (g (g)
[t4]

| E d
Jepow U ulew uiseq 8y} Jo uoiysod JOYOUE Hoq By} e

10 poomA|d se yons s|elajew Yiim paysiul 8q pjnoys
BaJe UOIJe|[BISUl DU} ‘9SeD By} SI SIY} J| “Jun oodweys

ay) Jo uolje|ieisul Bulinp pappaquis a.e s)joq ay)
UBUM 3EDIq [|IM 80BJNS J0O]} 8y} JO SSe|B Jo saj ayL

ysiul4 SSe[S Jo 9|i] JO 90BN Joo|4

| ‘syoyseb adid |je |jejsu| e
‘(Buyoouidiayem) Buiysiuly Jousyul ayy Bunejdwod uaym Buiuado ay JoAod ‘Buiuado ue sey Joojy ayy j| ©
‘s|euajew Bupooy joosdiajem asn

‘sadid abeuleip pue ‘Jajem joy ‘Iajem ay) 4o} sjuiod asu
ay} yum 3 Bulubie Aq Joojy ayy uo ayejdwa) saded pajesipap auy 39S (1)

mm]

*syea| Jayem a|qissod juanaid pue oy atedaid o} suonneoaid Alesseoau ay) 9xe} 0) ains ag
SJIE}SUMOP pUE JOOJ} By} Japun abeyes| Jajem Juanald 0} sainseaw jsanbay

Unit f

[Un
|

14



/

15

I "TAKARA
Bl BELMONT

TAKARA BELMONT (UK) LTD

Belmont House, One St.Andrews Way, Bow, London E3 3PA, U.K.
TEL : +44(0)20 7515 0333 FAX : +44(0)20 7987 3596

Printed in UK



